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LIBRARY AND INFORMATION SCIENCE
PAPER —1II

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

1.  An Invisible college is a typical example of :
(A) Informal channels of communication
(B) Formal channels of communication
(C) Both (A) and (B)
(D)

D) None of the above
2.  Berne convention was adopted in the year :
(A) 1911 (B) 1986 (©) 1900 (D) 1947

3.  FID was dissolved in the year :
(A) 2002 (B) 2005 (C) 2000 (D) 2003

4.  The use of CD-ROM:s in the library significantly relates to which of the following Laws ?
(A) First Law of Library Science (B) Second Law of Library Science
(C) Fourth Law of Library Science (D) Fifth Law of Library Science

5.  Which Source would you consult to get the latest information on contravercies about
the venue for Tata’s ‘Nano" ?

(A) New Encyclopedia Britannica (B) Asian Recorder
(C) India : A reference annual (D) Whitekar’s Almanac

6. BUBL link is a :

(A) Data base (B) OPAC
(C) Subject gate way (D) Portal
7. Who had given the ‘Minimal, Middling and Maximum’ theories of reference service ?
(A) C. M. Winchell (B) S. R. Ranganathan
(C) James I Wyer (D) S. Rothstein
8.  ‘Compaction’ is an important feature of :
(A) Reviews (B) Indexes
(C) Bibliographics (D) Market Report
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2. 'O HouE g ad H STurE T ot ?
(A) 1911 (B) 1986 (C) 1900 (D) 1947

3. TUH.SAE.EL ol fovg ad § 7 foran o en?
(A) 2002 (B) 2005 (C) 2000 (D) 2003

4. Trefafed P 8 & fFe g & staia St I8 &1 380 9od s ford § geeifyd €2

(A) q&feTerd fo= =1 9o (B) Yshrerd far ot fgefta 4
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(A) = THEEiffean faefren (B) TREA et
(C) sfUean : T IH=T 3T (D) faesrd TaHTH

6. o g o T foier ford Frfafea & wwifem €2
(A) ZEE (B) T (C) HasiaR Ted (D) drEd

X

7. HeY Far fagidl § 9% wem ‘ fafta, faefen wwe Afvwmm’ foeam fen 272
(A) Hi.udfaea
(C) ST 3TE TRR

(B) TH.IRIMEA
(D) TH UL
8. ‘Hetfgertur’ f # & foprdent g otaqor € 2

(A) =t (B) 3=
(C) fercemmnitrer (D) e fde
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10.

11.

12.

13.

14.

15.

16.

17.

18.

‘Geophysics’” has been formed as a result of :
(A) Lamination (B) Fusion

(C) Fission (D) Agglomeration

Which one is not a canon (as given by Ranganathan) :
(A) Canon of Comprehensiveness (B) Canon of Consistence

(C) Canon of Context (D) Canon of currency

ZBB was developed by :
(A) R.D. Stuart (B) S. R. Ranganathan
(C) Peter A. Pyhrr (D) C.V.Good

PERT was developed by :
(A) The Navy special project office  (B) Booz-Allen Hamelton
(C) Both (A) and (B) (D) None of the above

The term “hyper text’ was coined by :
(A) Ted Nelson (B) Charles Babbage
(C) Tim Berner Lee (D) Tay Vaughan

The 12 rules for relational database were given by :
(A) Larvy Page (B) Linus Tolward (C) J]. Bill Gates

The complete bibliographic details in MARC are available in :
(A) Leader (B) Control fields
(C) Variable fields (D) Record directing

Conversion of barcode into electrical signals is done by :
(A) Scanners (B) CRT (C) Photo sensor

Bibliographic coupling was first advocated by :
(A) B.K Sen (B) M. M. Kessler
(C) S. C. Bradford (D) S. R. Ranganathan

External and Internal criticism implies in :
(A) Historical Research (B) Survey Research
(C) Experimental Research (D) Applied Research
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10.

11.

12.

13.

14.

15.

16.

17.

18.

N
N
H
N

SNfrfse’ Fefafaa § 9 feFg utean @ s g ?

(A) TR (B) ®ISH (©) fwem (D) TR
frafafea § & S o1 A TeE g & e e 2

(A) I IF FHIERIEg (B) A ST RG]

(C) T TF HHIH (D) T TF FHLH

Sie st st ol fefafed fagm o 9 forem foerfaa frar &2
(A) AR B) TH.AR{TAILH

(
(C) fox TR (D) Wi TS

frefafed # 9 feem @ eamE (7)) =i fawfaa e g2
A) T e SR g siftRe (B) TSI-TeH gHEIA
C) (A) 3R (B) IHI Tl T (D) T ot &t 7 B

(
(

‘TR T’ s fefafad ¥ 9 forem sAmEn ?

(A) T Fod (B) =eid SO C) fegad e (D) 2 A=A

‘graferg geeg’ w1 12 fam fefafea § 9 fega fea €2

(A) ARt TS (B) R Ia@e  (C) S.fua eqg (D) 3.UE. &g
7k’ T Ut Tereh fraXoT el & WTH R 2

(A) fersz (B) e freey

(C) afgee fireey (D) T emrfeT

frefafed 8 & 9R #Ie 1 soifagsa frEe § qfieda fhas grr fohan s & 2

(A) T (B) ¥R (C) eI HW (D) e
god Tk GareH fefaiea 3 9 foeam fean?

(A) @R (B) TH.TH.HIR

(C) THHLISHE (D) TH.SARTMLA

TRl T AR A= fefafed 5 feg o ar 2t ?
(A) Uferies e (B) o gy
(C) aferor Ty (D) =R T

J—5909 5 P.T.O.



19. ‘Granthana’ is an official publication of :

(A) ILA (B) IASLIC (C) RRRLF (D) APLA

20. ‘Millian Book Project’ was initiated by :

(A) Pittsburg University (B) Carnegie Mellon University
(C) MIT, USA (D) Michigan University

21. Assertion (A) : Making information available using GSDL is effective than just putting
it on the web’.

Reason (R) : The information available in digital form can be archived.
(A) Both (A) and (R) are true and (R) is the correct explanation.

(B) Both (A) and (R) are true and (R) is not the correct explanation.

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

22. Assertion (A) : Migration is the primary strategy used by most organisations for digital
archiving.

Reason (R) : Migration preserves the physical presence, content, functionality and
context of the digital object.

A) Both (A) and (R) are true and (R) is not the correct explanation.
B) Both (A) and (R) are true and (R) is the correct explanation.

C) (A) is true but (R) is false

D) (A) is false but (R) is true

23. Assertion (A) : InLibrary classification, an empty digit helps in enterpolation between
two consecutive ordinal numbers.

Reason (R) : An empty digit is a digit with ordinal value but no semantic value.
(A) Both (A) and (R) are true

(B) Both (A) and (R) are true and (R) is not a correct explanation.

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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19.

20.

21.

22.

23.

‘o’ frefafea § @ forgen stfsd g €2
(A) STE.TAT, (B) seTHfeTR
(C) SRS ANTA.TH (D) uwfawaw

frfataa # o foem  fafaas 9 deiee’ &1 g foan ?

(A) Foregert gfafadt (B) R He IfTerfEet
(C) THIEA, JTHT (D) fHfrE gfrerfadt

MUY (A) STt TH Sl T Sl TINT L T AT ohl STCTSH LT Aol H STl hi STHE
SIS JHTEET ¢ |

& (R) fefsrea wid # Suctsy Yo =i Gifera feman S weha 7
(A) TFI(A) 3R (R) T € 1 A (R) Hel TIBTHI T |

(B) THI (A) 3R (R) ¥ ¥ AfFA (R) , (A) T Tl TIHH0T Tl T |
(C) (A) ¥ ¥ AfRT (R) 318 T

(D) (A) 3T8A T Al (R) TA ¥ |

AUk (A) AR Heensti § fefSed e & fau ‘wiem’ te wufae ot
A S )

@ (R) ‘i’ gy e Sufrfa, fow o, wrdemar e fefSea steniae &
T o1 TXfera foran e €1

A) 2F(A) 3R (R) 91 &1 Afh (R) T SASentol & &
B) THi (A) 3R (R) ¥ € (R) Tel SIS0 T |

C) (A) ¥ T kA (R) T9A B |

D) (A) 38 T A (R) TA T |

(
(
(
(

AMURAT (A)  TEAHTTT TR0 B T THTH BTk el o o 7k yarg & ford, R
3ok HETIT LT § |

T (R) b 3ieh 9% i 2IaT §, TSraeh! Hihe go © Afer 21 Wk go =1 g g
(A) T (A) 3R (R) T3 F1

(B) I (A) 3R (R) ¥ T &fehA (R) Wt TSR T2 |

(Q) (A) T Tl dfehd (R) 3T9A B |

(D) (A) 38 T AfhA (R) T B |
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24.

25.

26.

27.

Assertion (A) : In Colon classification, ‘2" represents mother country and ‘44’
represents India. A given library in India can use ‘2" or 44’ for India.
But, the rules allow for a choice.

Reason (R) : The above is a case of violation of Canon of homonyms.

(A) Both (A) and (R) are true and (R) is the correct explanation.

(B) Both (A) and (R) are true and (R) is not the correct explanation.
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : Present day libraries need to develop social networking tools for their
library websites.

Reason (R) : It helps to reach out the patrons where they live and provide service
at the point of need.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are true but (R) is not the correct explanation.
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : Library Science has been called Science because it has good application
of scientific tools and techniques as is applicable in natural science
and physical science.

Reason (R) : Experimental method of research has good scope in library science.

(A) Both (A) and (R) are true but (R) is not a correct explanation.

(B) Both (A) and (R) are true
(C) (A) is false but (R) is true
(D) (A) is true but (R) is false

Assertion (A) : Hypothesis are essential in all types of research.
Reason (R) : Objectives can fulfil the purpose of hypothesis.
(A) Both (A) and (R) are true

(B) (A) is false but (R) is true
(C) (A)is true and (R) is false
(D) Both (A) and (R) are false
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24.

25.

26.

27.

ATURYT (A) 1 hioH STeRTOT | ‘2" HIGRS T ‘44" 9RA 1 Fiaffee o3 €1 9Ra | fea
BT JIehIeTd ‘2 1 44" 9IRA o AT TN R Hehell © | TR STTeh0T 1M
T T AR < R

qh (R) : ST HYA FHAHAT T2 1 ST |

(A) THI (A) TaH (R) ¥ € T1 (R) Teh T TIBIHI B |

(B) T (A) ToH (R) ¥F &1 TRg (R) Tel THBIH0N T T |

(C) (A) ¥ ¥l T (R) 319A T

(D) (A) 3T9F T T (R) §A T |

FARHIT (A) :  TAHH TRl H A9 ke o faq Amfseh each SURl i foehfad
LA S T |

e (R) : TSR Seaeh ITHT gRI SUNTThdies i Sfel 31X Sl =1 ol ! UE

i H 7S AT © |
(A) THI(A) T (R) T £
(B) I (A) 3R (R) ¥ § T (R) Tl TIHHI 7 ¥ |
(C) (A) ¥ ¥ T (R) 319A T
(D) (A) 3@ T T (R) §A T |

AR (A) :  TshTerd T =Rl o saferd O < € sriifer 3a Safer SueRton qen
deheitehl a1 a1 & WA Biat © foraen fob wiepfaes wem siifaess fagm & famen
EicIE

e (R) : qEAhTeTd o H WA YOG 3T hTh! JIRT & |
(A) THI (A) TIH (R) § B TR (R) Hel T8R0T T2 2 |

(B) HI (A) T (R) ¥ |

(C) (A) 3TA T, W (R) ¥ T

(D) (A) 99 &, W (R) 3T9A ©

ANTRT (A) : W T & ATHUH | IhedT 1 ST e 8 8
& (R) : STHYM B Ufehou 3291 i Il Lt S

(A) HT (A) T (R) & |

(B) (A) 39, T W (R) TA T

Q) (A) 99 ¥, W (R) 39A T

(D) HI (A) TH (R) 38A T
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28.

29.

30.

31.

Assertion (A) : Skillful use of research procedures is an art, their appropriate
application is research.

Reason (R) : Systematically conducted research leads to generalisation.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (A) is not a correct explanation
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : Like other scientists, the social scientists can obtain relevant information
by conducting experiments, interviewing people, observing people and
reviewing relevant literature.

Reason (R) : Social Scientists can’t be so rigorous as can be of natural scientists.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (R) is not a correct explanation.
(C) (A) is true but (R) is false
(D) Both (A) and (R) are false

Assertion (A) : Research results lead to propound new laws, theories and principles.
Reason (R) : Laws, principles and theories are the result of scientific research.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true but (A) is not a correct explanation.
(C) (A)is false and (R) is true
(D) (A) is true and (R) is false

The British library movement include the following major reports. Identify the correct
chronological order of these reports.

(i)  Mc Colvin Report (i) Kenyen Report

(iii) Adams Report (iv) Select Committee Report
Codes :

(A) @ () @) @)

(B) Gv) (@) @) ()

© Gv) (@) @ @)

(D) @) (@) @v) (i)

J—5909 10



28.

29.

30.

31.

AR (A) :  STTHUN UHHAT Tk DRIV hell § 1 IHHT A1 fafim srsem 2 7
ek (R) : frifea &9 & fohan T STTHM SATIRIRI0 i T o ST & |

(A) T (A) T (R) T €1

(B) THI (A) TaH (R) ¥ € T (A) Tl SIS & T |

(

(

C) (A) T &I W (R) 319A T

D) (A) 38 T W (R) TA T |

ATHRAT (A) : T AR I TE , M S0k ol T HIaTehR 3Taciieh ae
e IR g ST G TH T Tohd & |

& (R) : YThfdeh Ikl ohi R ATHINSIR ST TH&0 | a1 haRal &l ol
Hohdl |

A) Tl (A) T (R) FE
B) Tl (A) T (R) TR € ] (R) Hel TS &l T |
C) (A) T &1 W (R) 319A T

(
(
(
(D) <HI (A) TIH (R) 38 T

afaemem (A): ¥, fagr way fem sy & aftom 2k €1
e (R) : T, from wad fagra Sefie sty & afom €
A) TF (A) T (R) T4 T

B) THI (A) T (R) ¥ T Afeh (A) T TSR & |

C) (A) 3Hd T, T (R) ¥ B |

D) (A) ¥ T, T (R) 39 T |

(
(
(
(

forfest AmEsRt Yam= § ffafed mewqel Raef &1 a9 81 379 KAl ol Heshagar
aferd |

() W ehifeed R (i) T RER
(iii)  3Trery R (iv) Horwe wHHe A
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32.

33.

34.

35.

36.

Arrange the following library automation software according to their date of origin :

(i) SOUL (i) KOHA
(iii) New GENLIB (iv) LIBSYS
Codes :

(A) (@v) (@) (@) (i)

B @) () (@Gv) (i)

Q) @) @@ @@ (@)

D) @ (v) () (i)

Arrange the following Online Systems in the order of their origin :
(i) ERIC (i) MEDLINE
(i) OCLC (iv) MARC
Codes :

A O @) @ W)

® @) O @ W)

© O v @) G

O @ @) O )

Arrange the following Indexing Systems in the order of their origin :
(i) POPSI (i) PRECIS
(iii) Chain Indexing (iv) KWIC
Codes :

A) @) @ 6 W)

® @ O @ W)

© O @ G (i)

D) (v @O @ (i)

Gotam’s book ‘Nyasutra” has given the following four steps of scientific research.
Arrange them in proper order.

(i) Aptavakshya (Verification/Testing)

(i) Upaman (Camparison)

(iii) Anuman (Inference)

(iv) Pratyaksha (Perception)

Codes :

(A) (@) (@v) (@) (i)
®) @ (v) () (i)
Q) (v) (@@ @) ()
(D) (v) () @) ()

Arrange the following Librarians of National library in chronological order of their
service :

(i) D.R. Kalia (i) Y. M. Mulay

(iii) B.S. Kesavan (iv) K. M. Asadullah
Codes :

(A) @) (@ (D) ()

(B) (iv) (i) (i) (i)

© @ () @) (@)

(D) @) @ (v) (i)
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(iv)

(iii) = S

hIET

(i)

STETHIM WhHSA i 3Tk 3q¥d ¥ o STIER T :

o

frefafa sl
i

o

32.

HTeh

(iv)

(i) (iii)  STETerH!

Frfafed siare o= 1 $7% 39d I8 o IR A& :
EEEIGIER|

33.

lEeD

(iv) iR

. S

(i)

%1 3 IqWA IY o STTER FET :

ERIR]

(i)

~

o o

[RAISIECH $'SI°H~I.‘I (2=

o

34.

Tirem 7 s H A AEE % 9R 9iH el €1 R Wt B § A

35.

STHATRAT (Verification Testing)

3TIHM (Inference)
v

YA (Comparison)
Ja&gdl (Perception)

(i)

(1)

(iv)

(iii)
A
B)
C
D

36.

frfafaad T Tae™ & YUl sl 39! Jarstl & HATAR FET :

CIRRCRS ]

(iv) . TH.TEGe

(i)

TI.3AR. Hiferan

(iii) . TH.REA

(@)

P.T.O.
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37. Arrange the following Library Associations according to their year of their establishment :

(i ILA (i) IASLIC (i) IFLA (iv) ALA
Codes

(A) () (@) G @)

(B @) @) @ )

© @O @) G@ )

(D) (v) @) @ @)

38. Arrange the following reference sources according to their date of publication :

(i)  Encyclopedia of Library and Information Science

(i) Mc Graw Hill Encyclopedia of Science and Technology
(iii) Encyclopedia Americana

(iv) Encyclopedia Britannica

Codes :

@A) (v) @) @ 0

® O (v ) (i)

© @) @) (v 0

D) @) () @) @)

39. Arrange the following sources according to their date of origin :

(i)  Social Science Index

(i) Library Literature

(i) Indian Library and Information Science Abstracts
(iv) Library and Information Science Abstracts
Codes :

@A) O G @) )

B ) 0 @) @)

© () (v @) @

D) (v O @) ()
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37.

(iv) TEAT

(i) S

AETATH

(i)

HE.TA.T

(@)

(i)
@)

(iv)
(ii)
(iif)
(iif)

(iif)
(i)
@)

(A)

(B)

(iv)
(iv)

(i)

(i)
(@)

(©

(iv)

(D)

Frefafea ded Eidl ol $7h YhRME a8 o TER QT :

38.

TAIIFATT AT 3TF Ao WIS THAIA T

i

(

Y

TTHIKAMITSAT 3T T ToE EEEIGIN

(aWa

ma fea

Heh?

(i

o

'{"IHI“‘IOK'H“I’\IFSQI SHH[RenlAl

(i)

(iv) TAEEEitean feerfen

(@)

(i
(i)

(iif)
(iv)
(ii)
(i)

(iv)

(A)

(B)

(i)
(i)

(iv)
(i)

(i

(©

(iv)

(ii)

(D)

%l Tk 3HT Y % ITIER FET :

f=AfAREd |idi

(1)

o

39.

qieIel 9 S-ood

(iv)
(iv)

(1) (D) (i)
(@)
()

(A)

(B)

(i)

(i)
(i)

(iii)
(iii)

(iv)
@)

(©

(i)

(iv)

(D)

P.T.O.
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40. Arrange the following committees/commissions according to their year of formation :
(i) National Library Review Committee
(ii) Library Advisory Commission
(iii) Sinha Committee on Public Libraries

(iv) Working group on libraries (Planning Commission)

Codes :
@A) () @ ) 0
B () ) (v 0
© (v @) O (i)
O (O (v @) ()
41. Match the following :
List-1 List-11
(a) Zipf's Law (i) Law of Scattering
(b) Eugene Garfield (i) Measurement of word frequency
(c) Bradford’s Law (iii) Measurement of Author Productivity
(d) Lotka’s Law (iv) Impact factor
Codes
(@ (b) (o) (d)
@) O G (v G
® () (v O (i)
© O (v ) (i)
D) (v ) 0 )
42. Match the following :

List-1

(a) The Electronic Library
(b) Library Herald
(c) Library Trends
(d) International Classification
Codes
(@ (b) (o) (d)
(A) @) @Gv) @ @)
(B) @) (v) (D) (i)
© @) @@ @v) ()
(D) Gv) (@) (D) ()
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43. Match the following :
List-1 List-11

(a) Principles of Management @i F. W. Taylor
(b) Functions of Management (i) Abraham Maslow
(c) Theory of Hierarchy of needs (iii) Luther Gullick
(d) System School of Management (iv) Henry Fayol
Codes :
@@ (b) (o) (d)
@) O @) ) @
B i) @) O @)
© (v @) @) o
D) () O v (i)
44. Match the following :
List-1 List-11
(a) Dewey decimal classification (i) 1933
(b)  Colon classification (i) 1876
(c) Rider’s International classification (iii) 1905
(d) Universal decimal classification (iv) 1961
Codes
(@ @ () @
(A) @ @) (@v) ()
(B) @@ Gv) @ (i)
(© (@v) @) (@) ()
(D) @@ @ (@v) (i)

45. Match the following :
List-1 List-II

(a) Search Engine (i) Pascal
(b) Browser (i) UNIX
(c) Operating System (iii) Yahoo
(d) Programming Language (iv) Netscape
Codes :

(@ () (o (@)
(A) @) @Gv) G @)
B) @) @ Gv) ()
© @ (@) (@v) ()
(D) Gv) (@) @) (D)
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g1

) Fee W fagr
b) oY % Tl

3 SHIHA FATHRHRIM

( (
(b)  hIeT FATHTPehI (
() VESW WA FAafdehy=  (iii) 1905
( (iv) 1961

frefafad gei-1 1 g=i-11 | gafad S

iy 1933
i) 1876
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46.

47.

After almost 10 years of more liberal policies, there have been increasing concerns
among policymakers academics, and industry analysts about the impacts of
liberalization on IT use and production. While the former “market reserve policy” has
been widely studied, the impacts of more recent policy have not yet been fully analyzed?.
This article is a further contribution to the evaluation of this policy from the point of
view of IT diffusion, the development Local industry, technological capabilities , and
foreign trade4. It argues that despite the fact that Brazil did not become an international
player in global IT markets, continued state involvement has produced substantial fruits.
It has revealed local capabilities in areas that require highly skilled professionals rather
than unskilled labor, as the conventional international product cycle in the international
division of labor would suggest. Greenhouse policy in the past led the Brazilian IT
sector to invest “significantly in the accumulation of technological capabilities and
develop important backward linkages”. The user-supplier relations established by local
firms in areas like banking automation still engender important reserach and
development (R&D) efforts, contributing to the diffusion of IT in line with local needs.
Also, the previous existence of both industrial capacity and a skilled workforce has
become a driving force in attracting new foreign direct investment in IT production in

Brazil to serve the Latin American market.

The policy makers of Brazil are primarily Concerned with :

(A) Liberalisation and computer Industry.

(B) Brazils failure in becoming international player in IT
(C) Impact of liberalisations an IT use and product.

(D) Instability of Brazilian Politics.

What are the professional skills required to meet the global market ?

A) Un skilled, suitable to local labor needs

(
(B) Semi skilled suitable to global needs
(C) Skilled suitable to global needs

(

D) Highly skilled suitable to local needs

J—5909 20



46.

47.

e a3 73 ufedq &t ufegd 3iiv ufi=sq &t 31a=t THeT &t AT 9T g9 & Sov giferd :
ISR A & ST 10 I6T o 9T STE. 3. o FAI Ue Scaed W 3SR ifaal & gt

&1 TR AfTRR, TeRTefies fagmi 3Tk e faversshi § fom=i &l 9@ W T 1 Safe qd Hifehe
e wifceret o1 I e foran T § W SIR Stfuek e Hifd i o1e ak faveifia @t
foram e %1 71 ey o <1 3 TR T e o forhrd, wrenfe s iR fadeh R
gfoentor & 38 Hifa & qodien & GneH § gfs A ¢ 399 g © TR 39 928 & SaeR R
TS Sfvaen 31 & o1 STRR-TP faare! 781 a1 i, o off Taq 9l ome 9 vt %
H TL T SO S & H T &Tar b1 al o T S STehivie 99 e 3
HITTAAU SHErEt F1fed ST foh ST=R-Tseia 9| fae & 31id g ST-TP 3eTe
=6 G Gl T g | TorTa § WA g Wit 7 St 3T S & H UTeiiieh sHarsi o
T IR FEwqUl S feicherd o for wefeh ferer fopan | dfsh eTere w’iw & § T
TR GRT FRTehdl- TS ehal o Tra-el H STk STIHYM 3R foera yamel @i fR off 3ot
foren & fom 3 T sTavashaieii & STIEY o7 31 o UHR H AneH fean €1 S8 Wy Y
el | A SR a1 SR e FH-36 & ST A ifsra § ST 2 o Scared & farg
foost goaer A =1 21ehftia = o T Semeres ot o fear 81 s5@ 9 dfeq smfe
ATk sl Hell o FehTl |

SISttt o Tfaerdl grafieraen fe=fafea § 9 feg 9 gwifig ®°2

A) ISRAT SR FFRR UM

B) oT% 2 & H FSiicl o ST<R-UP faare! a1 H 3% &l
C) oTE 3 % WM AR 3G W ITRAT 1 JHE

D) sfSiferad TSHifa st STfeerar

(
(
(
(
Afvaes wifthe & foru o smafaes Forerasti s stiem & 2

A) 3T, S T g9 6 STERIHRdle ol U L H 39T |

C) T il Afvee stavasmdrsti & foiu Iugw ¥ |
D) 3 FIC, S IR STavThdisii & ST ¢ |

(
(B) 31H-3puIel, Sl T 90 STERIharstl sl QU i o oL ST |
(
(
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48. What was the significance of “Green House Policy” of Brazil ?
(A) Investment in R and D sector (B) Investment in IT sector

(C) Investment in Banking sector (D) Investment in global market

49. Effects of customization in different sectors of Brazilian industry are :
(A) Wide study of “Market reserve policy”
(B) Development of local industry
(C) Diffusion of IT in line with local needs

(D) Attracting new foreign direct investment

50. What is the driving force that attracted foreign investment in Brazil ?
(A) Organised and automated Banking Sector
(B) Industrial capacity and skilled work force
(C) Important development in R and D sector

(D) Adoption of Green House policy.

-00o0-
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48. SIS ki ‘U BIHH ATerdl’ 1 =1 Hewel of ?
(A) SR IR €l &= | fam (B) TS 3F &= H faw
(C) dfshm &3 ¥ fraw (D) dftas wifehe & fram

49. wfSiferas e & fafve & § Suifeentor o1 qvE Hie 8 2
(A) ‘wifche RS wiferet’ 1 =T STEEEH
(B) wrfa M 1 ford
(C) T STrereaehelell & STET E I F1 FEX
(D) fasht yer g e &t sepfifa e

50. wSie | faesh frasr =1 eesfid = & foau g=mers wife A 9 ot ?
(A) geFaferd oik @ =nfea dfh &
(B) SirEfiTeh &mal AR FHIA 91 Wb
(C) 3R 3R St &7 | sToeae fowm
(D) WF Brd wiferdt sl ST9M

-00o0-
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Space For Rough Work



